YR 3 i B A R

B st mm AR A



e 5 T AR 2B I R 5
K F F 18 O R AR K AR R
—# 4o AL

£ & KEK
B H REIEOEER
R4

AL E R T
2005 % - & &



(5F) #HBEFI1S

BHEMSE (CIP) &

REFAE MR A SRR BT/ RERER —R
W AEERITSE A R, 2005. 1

(kR R EHERIRRS)

ISBN 7 —-5622 -2823 - X/ H - 223

I ko T. 3 1. BE-BE¥RATER-THE V.
H310. 42

| A E 308 CIP $UIERCF (2003) 45 109150 &

AERE MR ER LR AR R
— R
© k&K T4k

HARAT . HRPIBEASE T R (FRDUT HEHTB 100 S/BF% . 430079)
7Z 8. EEIFERE/URIMNEEE TR ERA R
B Rl WALRERERIET

RECHHE. HBE B % R B
FARA, & % ® . oz
FZ. 850mm x 1168mm 1/32 Epd. 10.25 FE 257 FF
WK, 2005 4 1 A5 2 IR EDK. 2005 4 1 45 2 JER

Ep#. 1 -10000 4. 10.00 T



(RSEEE T R BRI R) —ARIE BB RSB K
) FICK2E BB PR % (1—4 ) ) AR B K ¥R X
GHERT R STV R AR AR ER TGS 1 —&
ZRMNE, SEMABISH 5 M (REIEIE IR R PR
B—— S R ST) (S35 T 4 Rk AR BR—— I AR
(REHTE DR B AR R —— P SRR ) (R G N %
Bk BAR FR—— 1 T 2 ) B R 095 T 4 1 Pk AR R —
HERRTY . BTV 43 B k2258 DU 2R 2 35k LR S TR () 2 000
W, B — W 2aTM PSS, B REEENEERNES
R

A R B 2EAE R A P AR R —— LR ) , &
H+EEBIRE , B e R REE ORI, 8IS T (ks
AR FE R R R RO AR
R I S A SR BRI B ESLMER, BERE
EES M “ B RN VT A RR T, AT B RIS
o JB R 3 B SR B S B o

S B EE BN PUSE A%, SC M MR kAR T
S S HIERE R LI5S GBS , A URERE B A R HE
R A BT RIESE T IR B IR G TE R RS .




SN R

45w EE A2, 45 SR AE A 5, BT RiE & LTS
1o

%W F



KEXRXFRR(BVMEER & BRI

RKERBPHEERFIBBSERESRFHLEHTRE, UK
FE RSP RRTE F A RS EH TR, (LR FI R KK
BREEARD BRZE AEEE AEFEAR . SR—W. TR
AR BXEREIERIELBES LT, 2EFHFLEEER
AR,

(e XBXEIFTRG(ELF4H:F LB 19.904; %2 M 17.907; %
IM2.90A; 4R 00)RBBALLIE MM Rpa{FBERER
EYR BB,

(RKFRBE)HR)FITRB(E5 458 1811.90 ;% 2 # 12.90 T;
FI3H12.90 ;8 4 M 13.90 L)AMWTE RS 2 6 st (k¥R
EYHR)GRE,

QL FEXE2EXMPR)FEITRG 11004, LB P F L
2, A2 RFEBEAEERAQL ERASEERELBEBIGEE,

QI AFRELEHR)FTHG (XS4 8.2 1 H 110042 2 #
16.00 ;B 3 A 18.00 ;85 4 B 20.00 . ) R AR E X T F 3 &, Z_ak#ﬂz
BAREEGQIERAFREEERA)NSE,

(SRXFREVETHB(F248. 218 12,904, F 28 11.00 ;8
35%14.90 ;% 4 4 15.00 /0o ) R Neville Grant (X) ¥ 28,5t 813t s
LONGMAN # (S KX ¥ RiBIRBE,

(SHBMAFRERLHA)FIRB(XS 2. B 1LH 16004828
16.00 o ) RAREF R F 1 & S R H(S IR K FHERLS BT
5,

(AN XEEERBRAYFIRG(E 24 £ 1 H17.00 ;852 #
16.00 7o ) RARIE & X F £ 8 STt M (ISP R FRIE R B HA) T &
B,

KERHUBYESNL2EREXRBFRAREROME, AR
KERENKRFIEBEARE KRS M, AHERESLE
RIHFERFEEE AR E)AMOCELENARHARE), BiTE
B3 HE K EEMNASER, CRENEE S, CERFEA, 8
FHEEBFHE, 2004 FEFRER L HAFIELFTNRE(H
AR, NHEEEE RS RUTBA HHRIE, KEFEBELE
HER, LTHAMRRIFSEB,

RKEXFEATHRSBFH(1-48) 11.90
KEXRBFHALSRISBEFH(1-62) 15.90



K FREALT TR FH(6H) 8.00

XEXEBLS LTS HFH(48) 10.00
KEREHIHKFH 9.00
K FEEMEMIE B F M 11.90
AEXFEEYATH 8.90
K FEEH MR E(wR) 13.00
AEFREHAMEE(FR) 13.00
JEFEFZ-CE S5 S 13.00
B RERBABAERRE 13.00
KFERBERERE ISR H 11.00
SERFREER 12.90
XS LT ES P T ] 12.90
HFFREER ARSI F R EM(AR) 19.00
RFREE ML 180 F(448) 16.00
RFFBEL XL 180 B (6 ) 18.00
XEEREZHT 19.00
RKFXBEWBRIBHB—AL5H 10.00
KEXRFZOBIBBB— B 10.00
AKFXEQBRBBB—BHAEL 10.00
K335 v b B R A PR —— D iR A 2k 10.00
K FEF o bR B ——BE M : 10.00
RS EB B PBRBIB— I 2 ¥ 11.00
KEEBEARIBEHB— T HIR. 11.00
AFRBXBRRIAB—BHREL 11.00
P32 34 Syt X E 11.00
XEEBABRBER —BERRMA 11.00
KEXRELHMMALER)(SFH2E) 18.60
REEFLFARZEGCHR))EFH24) 18.60

BRRgHEAE . BRI EEMIERIRITEER B X 17 Hi—#510

WO A kR AR ()

HE 4. 430064

CHER: THEBX+BE (ARAEL, 2RKEL%)

(G50 R THEH R 4 THRRE, W S0 SuLl b MR P LR B E W
10 % WCER)

M BT A ESEE RREA XRIEE!

PRIFE K i www. starweb com en

BR & #4% . 027 88770017 (ZEEIT)



Model Test One - cccvccmmrinniiiinninininiinninanen, (1)
BRB IR rerrerere i (21)
B HJRAG crreerreeesesninti s g (29)
Model TesSt TWO ---ccocereeemriitinirnriininiieneienae, (35)
BB FEM ceeerrrerrii e (54)
B HJRAE ccvrereereretntstnntiintiiniiirrrta et e r e ranaaeas (62)
Model Test Three -------ccovvriemiimiiieeer e (66)
BRBAEM ereerrrer e (87)
B JJJRAE <vveerrmnerrrnr e ere ettt e e (94)
Model Test Four - vorvevermminiiniiiiccennn (99)
BB AR ere vt (120)
BFF ] JRAR +weeereeerensrresenetrantinitiirirter et e ee s (127)
Model Test Five ---cccccceeimmmiimiieiiiiiiciieeeene (130)
BB B FEH e (149)
BF ) JRAG v eev e erre et e e e (157)
Model TeSt SIX - --vrcvevrrrmnimniiiiiiiicii i, (160)






Model Test One

Part I Listening Comprehension (20 minutes)

Section A
Directions: In this section , you will hear 10 short conversations. At
the end of each conversation ,a question will be asked
about what was said. Both the conversation and the
question will be spoken only once. After each question
there will be a pause. During the pause , you must read
the four choices marked A), B), C) and D), and de-
cide which is the best answer. Then mark the corre-
sponding letter on the Answer Sheet with a single line
through the center .
Example: You will hear :
You will read : A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.

Erom the conversation we know that the two were talking
about some work they had to finish in the evening . This is most like-
Ly to have taken place at the office. Therefore,A) “At the office”
is the best answer . You should choose [ A] on the Answer Sheet and
mark it with a single line through the center .

Sample Answer: FA] [B][C]1[D]



1.A) To ask the woman to fix his watch.
B) To call the woman when the watch is fixed.
C) To visit the woman within one week.
D) To call the woman in a week.
2.A) The man can sit down.
B) She doesn’ t want the man to sit down.
C) She’ll mind if the man sits down.

- D) She would like the man to sit with her.
3.A) She should be careful about spending money.
B) She should buy the brown suit.

C) She should find another job to make more money.
D) She shouldn’t buy the brown suit.
4.A) The movie was not good.
B) The movie was excellent.
C) He wants to see the movie again.
D) He wants to stay at home.

5.A) The wind has stopped, but it’s still raining.
B) The rain has stopped, but the wind is still blowing.
C) It’s still raining, and the wind is blowing.
D) Both the rain and wind have stopped.

6.A) He gave half of it to his friend.

B) He threw half of it away.
C) He kept all the paper.
D) He threw half of it away and kept the rest.

7.A) At 10:00. B) At 10:30.
C) At 10:45. D) At 11:45.
8.A) On a telephone. B) At a hotel.

C) In private. D) In a guest house




9.A) He gambled it away. B) He had it with him.
C) He lost his money.:. D) He tock it out of the bank.

10.A) On the grass. B) Near the pool.
C) At home. D) On his bike.
Section B

Directions: In this section , you will hear' 3 short passages. At the
end of each passage, you will hear some questions. Both
the passages and the questions will be spoken only once.
After you heard a question , you must choose the best
answer from the four choices marked A), B), C) and
D). Then mark the corresponding letter on the Answer

Sheet with a single line through the center .

Passage One ‘

Questions 11 to 13 are based on the passage you have just heard.

11. A) Because the sack broke.

B) Because the farmer was not strong enough to lift the sack
alone.
C) Because the farmer fell down, too.
D) Because the sack was too heavy for the horse.
12.A) Humble. B) Happy.
C) Discouraged. D) Ashamed.
13. A) He helped the farmer.
B) He didn’t ask the farmer for money.
C) He wanted the farmer to help anyone else in trouble.
D) He wanted some wheat.
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Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14.A) Because they need air.
B) Because they don’t carry scientific instruments.
C) Because they can only travel for hundreds of miles.
D) Because they carry animals and people.
15.A) When the Second World War had ended.
B) Shortly after they had sent up a rocket with scientific instru-
ments.
C) After they had sent up animals and brought them safely back
to earth.
D) After they had sent the first man-made satellite.
16.A) He traveled faster than any man had done before.
B) He didn’t feel he was traveling quickly.
C) He was lying upon a couch in the spaceship.
D) He was sitting at the controls.

Passage Tree
Questions 17 to 20 are based on the passage you have just heard.
17.A) Sutter. B) Marshall.

C) Bennet. D) A newspaperman.

18.A) To ask the Governor for petrmission to make a home there.
B) To make sure that any gold found on his land would belong to
him.
C) To prevent people from making a home in the Sacramento
Valley.
D) To ask the Governor to keep a secret. -
19. A) By ship. B) By freight cars.
C) By train. D) Both A and B.



20.A) Because the new-comers took all the gold from his land.
B) Because the new-comers killed one of his sons.
C) Because the new-comers seriously harmed him during the
California Gold rush.
D) Because the new-comers prevented him from making use of
the wealth of his land.

Part [ Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is fol-
lowed by some questions or unfinished statements. For
each of them there are four choices marked A), B), C)
and D). You should decide on the best choice and mark
the corresponding letter on the Answer Sheet with a sin-
gle line through the center .

Passage One

Questions 21 to 25 are based on the following passage.

Climate, more than any other single factor, determines the dis-
tributions of life on Earth. Climatic boundaties establish the limits
within which organisms can survive. Plants, even more than ani-
mals, must be well adapted to climate in order to survive. They can-
not move about or take shelter but must be equipped to endute what-
ever weather conditions are likely to occur. In the harsh conditions
of the tundra, for example, low growing mosses, lichens, and a few
flowering plants all hug the ground for shelter from icy winds.

Animals, despite their ability to move about and find shelters,
are just as much influenced by climate as plants are. Creatures such
as the camel and the penguin are so highly specialized that they have
as extremely limited distribution. Others, such as bears, are flexible



enough to adapt to a broad fange of climates. Ocean-dwelling organ-
isms are just as sensitive to climatic changes — in this case tempera-
ture and salinity(5 28 ) — as land animals. Reef corals can sur-
vive only in clear warm seawater. Certain foraminifers are so sensi-
tive to changes in their environment that their presence can be taken
as an index of sea temperature. Human beings are among the least
specialized of all animals and can live almost anywhere. Their
clothes and their homes act as a sort of “miniature climate” that can
be taken with them everywhere. -
21. Which of the following is neither plant nor animal?
A) Tundra. B) Lichen.
C) Penguin. D) Moss.
22. According to the passage, plants on the tundra grow close to the
ground
A) to avoid being eaten by arctic animals
B) because fertilizer is not readily available .

C) to minimize exposure to the cold
D) because unfrozen water plants are very scarce
23. According to the passage, which of the following can be found in
the greatest number of different climate areas on Earth?
A) Reef corals. B) Penguins.
C) Bears. D) Camels.
24. 1t can be inferred from the passage that foraminifers are a
A) kind of weather pattern
C) species of tundra plant

B) form of sea life
D) type of miniature penguin



25. According to the passage, human beings can survive almost ev-
erywhere on Earth because
A) they have developed advanced forms of transportation
B) they have learned how to process seawater for drinking
C) their body temperature can vary considerably
D) their shelters and clothing help them to adapt to the environ-

ment
Passage Two
Questions 26 to 30 are based on the following passage.

Honeybees cannot live alone. Their body structure and instincts
equip them for life in a colony of community, where they have a
complex social organization and the various duties are divided among
the individuals according to physical fitness and age. An individual
wotker bee cannot reproduce itself. While it may continue to live if
forcibly isolated from its mates, it fails to care for itself adequately,
and soon dies. Most insects have the ability to hibernate in winter,
but the honeybee seems to have lost this. Since at low temperatures
the bee will die, it must have the ability to make its own environ-
ment, so far as temperature is concerned. This makes a colony nec-
essary to the bees in winter, so that they may collectively warm each
other. Efficiency, if not necessity, demands that the work of the
colony be divided, and such a division of labor tends to enhance (3
78 ) the need to maintain the colony. The physical structure of the
honeybee is further suited for the defense of the entire colony rather
than for its own defense. The bee’s barbed (& BIK|AJ) sting is
used only once and is made more effective by the fact that it is left
behind in the victim. With the loss of the sting, however, the bee
dies. This kind of defensive weapon is not of service to the individu-



8

al, but to the community.

26.Bees are fitted for communal life by virtue of their .
A) flexibility and initiative
B) independence and endurance
C) intelligence and sensitivity
D) instincts and form
27. A worker bee may survive for a short time even if it is
A) deprived of its sting
B) denied access to oxygen
C) isolated from other bees
D) exposed to a wide range of temperatures
28. It can be inferred from the passage that at one time bees had the
ability to
A) increase their activity in lower temperatures
B) leave cold climates during winter
C) remain dormant(4KiR) through periods of cold weather
D) construct insulated hives
29. Bees differ from most other communities of insects in their need

to

A) reproduce in large numbers
B) control the temperature where they live
C) divide the work of their colonies
D) have a complex defense system
30. Which of the following is the most appropriate title for the pas-
sage?
A) The Communal Life of Bees
B) The Structure of the Bees



